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TrC () Tadefit Tifegeton

10x° +10* log, 10 .
I= ,[( x( To N 1(:5:;6 ) dx is equal to 5. If 4= |e*sinx and B= |e*cosxdx, then 4°+B* is
x
(@) 10" +x"° +c (b) 10" -x" +c Ol tho |
() 10" +x" (d) log, (10" +x*)+c (@ (b) e
2+sin2x) ., 3x

2. J (1+0052x)e a (c) e3 (d) none of these
(a) e*cotx+c (b) —e“cotx+c o
(c) —e“tanx+c (d) e*tanx+c 6. _[ 15" 16 dx equals

3. I=J\/1+2tanx(secx+tanx)dx is equal to . log[ex+3]+c © log[ex+2]+c
(a) log, [sec’ x+ tanxsecx| +c e +2 e+
(b) log, |l +tanx(secx +tanx|+c © llog[ex + 2]+ . (d) none of these
(c) log, |sinx(secx —tanx)|+c 2 ¢ +3
(d) none of these 1

s 7. 1If I=leoge 1+— |dx

J-x +x-1 _ X
( ;Cz +-|)-Cl— 6( +3)+ log(x—2) + = p(x)log,(x +1)+ g(x)x’ + Lx + ¢, then
a) x+log(x og(x-2)+c¢
(b) x-log(x+3)+log(x~2) +¢ @ p)=2x (b) g(x)=log, x
c) x—log(x+3)-log(x—2)+c
© B )~ log( ) c) L=1 (d) none of these

(d) none of these
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10.

11.

12.

13.

14.

dx .
I — - 5— is equal to
4sin” x + 4sinxcosx + 5cos” x

(a) tan™ tanx+l +c (b) ltan_l tanx+l +c
2 4 2

(c) 4tan™ (tanx +%) +c¢ (d) none of these

. If n is an odd positive integer, then ﬂx"| dx is equal to

n+l n+l

X lie x
@ [ (b) ~—+e
x"x
(c) —+c¢ (d) none of these
n+l
j—_dx is equal to
4+ 5sinx
1 tanx/2+5 1 2tanx/2+1
—logl————{+¢ (b) —log|———|+¢
@ 3 & ¢ ® 3 & tanx/2+2
© llo 2tanx/2+1 te
3 & tanx/2-2
) Llog 2tanx/2-1
3 | tanx/2+1

j[l + 2tan x(tan x +secx)]"*dx is equal to

(a) logsecx(secx —tanx)+c
(b) logcosec(secx +tanx) +c
(c) logsecx(secx+tanx+c)

(d) log(secx +tanx)+c

If Ide=Acos4x+c, then 4 is
cotx—tanx
(a) 1/8 (b) —(1/8) (c) 1/4 (d) —(1/4)
J-e’_:+x:_1 dx—
e +x

(a) log(e™ +x°) (b) elog(e” +x°)

1
() ;log(ex +x°) (d) none of these

2 pa—
The value of I ax b dx is

x\/czx2 —(ax® +b)*

(@) sin’ [L‘b/")}k (b) sin {M}k
¢ C

(c) cos™ [M} +k (d) cos™ [M] +k
¢ C

15.

16.

17.

18.

19.

20.
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1 n—l_ 2n
The value of Ie"m—xdx is
(1= x")W1-x*"
x [1_ n 1 2n
(a) ENITXY L. (b) e* +)§ +c
1-x" 1—-x*"

x 1_ 2n 1 2n
© X4 @ X" ¢
1-x 1-x
[Ruinxtcosx

3cosx+2sinx

1—+%log(3cosx+25inx)+c

@ 13

2—ilog(.’>cosx+ 2sinx)+c¢

® 13 13

(©) %x+%log(3cosx+ 2sinx)+c¢

(d) none of these

Ix" (1+logx)dx =

X

(@) x*logx+c (b) logx+c

©) x+c (d) x"(x+D+c
f___ii___=
xlogxlog(log x)
(a) log(logx)

(c) [log(logx)I’

(b) log[log(log x)]
(d) none of these

dx is equal to

1
I (-1 (x+2)°T"

4 x-1)" 4fx+2)"
— + b) —
@) 3(x+2) ¢ ® ( 1) e

1/ x-1)}"* 1(x+2)"*
- — +
) 3(x+2) e @ 3(“1) ‘

J’%(logex e-log, e-log e) dx is equal to

@) %log (log, ¢’x) - log(log, €’x) + log(log, e'x) + ¢
(b) %log(loge x)—log(log, x) + log(log, x) + ¢
© %‘Ogaoge ex) ~ log(log, ¢’x”) + log(log, e’x’) + ¢

@ %‘Ogaoge ex) - log(log, e*x) + log(log, ¢'x) + ¢
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ANSWERS

.d 2@ 3@d 4@® 5 (@ 6. b) 7.(d) 8 () 9. () 10. (b
1. () 12.(a 13.() 14.(@ 15 (@) 16.(b) 17. (c) 18.(b) 19. (a)  20. (d)
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1.

2.

x+h
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_I_;\’ll <ll) Definite_ I’\{?la‘(a\lﬁ

X

j In%dt — jlnztdt

3. The value of the function f(x)=1+x+ J(]nzt +2Int)dt,
1

where f’(x) vanishes, is

lim -£ 4 equals
h—=0 h (a) e’! (b) 0
(@ 0 (b) In? x (c) 2¢! (d) 1+ 2¢!
(©) 2 1nx/x (d) does not exist “loe x
1 1 1 4. The value of the integral j 08X
lim [—+ +-~+—:| is equal to Al X
noe| 2n  2n+1 6n @) 372 (b) 572
(a In3 () Iné6 (c) 3 (d) 5
() In2 d)2In2
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10.

11.

1
b) —log2
()zog

1
d) —log?2
()4g

x 1
. If If(t)dt =x+ jt,f(t)dt, then the value of f(1) is
0 x

(@) 172 (b) 0
(© 1 (d) —(1/2)
3n
,}i_’flr=§+l ) is equal to
lo \/z b) lo \/E
(@) logy/> (b) log,/>
lo E d) lo g
(©) log3 () log>

. Let f(x)=x—[x] for every real number x, where [.]

1
denotes the greatest integer function. Then J f(x)dx is
-1

(b) 2
) 12

(@ 1
© 0

1/n
2 2
. The value of lim 1+L 1+2— . P is
et 2 2 2

w2
e

(a) (b) 2e%e™"?

(©) (d) none of these

26

ieﬂ/Z
2

e

bk
If fis a continuous function, then %J. f (%)dx is
ak

1 b b
@ - j f(x)dx (b) j f(x)dx

(©) kj f(x)dx (d) none of these

If f(x) is a function satisfying f(l)+ X f(x)=0 for
X

cosecl
all non-zero x, then j f(x)dx equals

siné
(b) sin’ 6
(d) none of these

(a) sin@ +cosecd

(c) cosec’d

12.

13.

14.

15.

16.

17.

18.

19.

20.
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nmw Sx
IfI,= Jf(|cosx|)dx and [, = Jf(|cosx|)dx, then (n € N)
1] 1]

(a) nl, =51, M) I,+1I,=n+5
(¢) I—‘=I?2 (d) none of these
. [ r .2t . 3w . (n—l)ﬂ]”" .
lim | sin— - sin=— - sin— -+ - sin ———— is equal
n—eo 2n 2n 2n n
to
(a) 1/2 (b) 173
(c) 1/4 (d) none of these
/3
The value of & if j cos.x dx=k -log 3+2V3 is
o Jtdsinx 3
equal to
(a) 1/2 (b) 173
(c) 1/4 (d) 1/8
If [x] stands for the greatest integer function, the value
i [x]
of J > —=dx is
) [x* —28x+196] +[x°]

(@ 0 (b) 1
(c) 3 (d) none of these

rl4 dx
The value of ———— is

_2ia8ec” x(1+sin x)
(a) n/4 b
(c) n/2 (d) 2x

b
If f(a+b—x)= f(x), then fo(x)dx is equal to

a

a+bt a+bt:

@ = j flo-xdx  (©) — j f(x)dx
b—at

(¢) 5 J f(x)dx (d) none of these

rl2
Let f(x)=min(tanx,cotx),0<x< % , then J f(x)dx
0

is equal to
(a) In 2 (b) Inv2
(c) In3 (d) none of these

100 100

1
If J f(x)dx=a, then z |:jf(r— 1+ x)dx] =
0 r=1 | o
(a) 100a
©0

(b) a
(d) 10a
2+l
If f(x)= je”zdt, then f(x) increases in

(b) no value of x

(d) (===, 0)

() (2,2)
(©) (0, )
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ANSWERS

1. (b) 2. (a) 3. (d) 4. (b) 5. (d) 6. (a) 7. (b) 8. (a) 9. (c) 10. (b)
1. d 12.() 13. () 14.(c) 15. () 16.(c) 17.() 18. () 19.(b)  20. (d
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T i) Aplites of

. X
1. The area of the curve y? = (7—x) (5 + x) above the x-axis 2. The area bounded by x*+ y? -2x=0 and ¥ = SIHT

and between the ordinates x =—5and x =1 is in the upper half of the circle is
(@ 9z (b) 187 (a) /2 -4/m (b) w4 -2/n
(c) 15m (d) none of these (c) n-8/x (d) none of these
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. The area common to the circle x*+y* =64 and the
parabola y* =12x is equal to

(a) ?(47”\/5) (b) ?(87:—\/3)

6
©) 1?(471' -3) (d) none of these

. The area of the region bounded by y=x*>and y =

) 1+x°
is
2 1
_= b) 7 ——
(@ = 3 (b) 5
2
(©) 27 73 (d) none of these

. The area of the region formed by

x2+y2—6x—4y+1230, y<x and xs% is

T \/5 +1 T \/5 +1
@ =~ (b) 6T 3
(©) %— % (d) none of these

. Thecurve y= a~/x +bx passes through the point (1, 2)
and the area enclosed by the curve, the x-axis and the
line x =4 is 8 sq. units. The values of a and b are

(@ a=4,b=-2 (b) a=3,b -1

() a=-3,b=5 d) a=-1,b=3

. The area of the closed figure bounded by y =x,y=—x

and the tangent to the curve y=+/x>—-5 at the point
3,2)is

5 by =
@ )

35
© 10 @

. Let f(x)=min[tanx,cotx,L},Vxe(O,%)‘ Then

NG

the area bounded by y = f(x) and the x-axis is

4 T
4 T
(©) log(§]+—12\/3

. If 4, represents the area bounded by the curve
y = log x™, the x-axis and the lines x = 1 and x = ¢, then

2 /4

(b) log(E] + m

(d) none of these

A, +md, is
(@ m (b) m?
(c) m*2 d) m*-1

10.

11.

12.

13.

14.

15.
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Let f(x)=ax’+bx+c,whereae R*and b* —4ac <0.
The area bounded by y = f(x), the x-axis and the lines
x=0,x=11is

(@) é[3f(1)+f(—1)+2f(0)]

() é[Sf(l)+f(—l)+8f(0)]

1
() g[3f O = fEDH+2£(0)]

(d) é[Sf(l)—f(—1)+8f(0)]

Consider a rectangle ABCD formed by the points
A=(0,0),B=(6,0),C =(6,0) and D=(0,4). P(x,y)is
a moving interior point of the rectangle, moving in such
a way that d(P, AB) < min. {(d(P, BC), d(P, CD),
d(P, AD)}. Here, d(P, AB), d(P, BC), d(P, CD) and
d(P,AD) represent the distances of the point P from
the sides 4B, BC, CD and AD, respectively. The area
of the region representing all possible positions of the

point P is
(a) 8 (b) 4
(c) 12 ) 6

The area bounded by the curves x = a cos® f and y = a sin®t
is

2 2

(@) 3”8“ (b) 3’1’;‘
3 2

© Z; d) 37a?

Ifthe area bounded by the curve y = f(x),the linesx= 1,
x = b and the x-axis is (b—1) cos(3b+4),b>1, then
fx)is

(@) (x—5)sin(3x—4)

(b) (x—Dsin(x+1)+(x+1)cos(x—1)

(c¢) cos(3x+4)—-3(x—1)sin(3x+4)

(d) (x—5)cos(3x+4)

The area common to the region determined by y>/x
and x? + y* < 2 has the value

(a) m-2 (b) 27— 1

©) 37-2/3 (d) none of these

The area bounded by the curve y=max.{sin x,cosx},

. . v .
the x-axis and between the lines x = I and x=27 is

4V2-1
@ n
42 -

(b) (4v2-1)

(d) none of these
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16.
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Consider a triangle O4B formed by the points O = (0, 0) (a) A =24, (b) A, =24
A = (2,0), B = 1,/3). P('x, y.) is an arbitrary interior (c) A, =24 (d) A =4,
point of the triangle, moving in such a way that d(P, OA) 18. The slope to the curve y = f(x) at(x, f(x)) is 2x+1.If
+d(P,PB)+d(P,0B) = \/3 » where ‘{({)’ OA), d(P, /,IB)’ the curve passes through the point (1, 2), then the area
d(P, OB) represent the distances of ‘P’ from the sides of the region bounded by the curve y = £(x), the x-axis
OA, AB and OB, respectively. The area of the region g . Y Y ’
representing all possible positions of the point P is and the line x = 1 is
@ 23 ®) Vo6 @ > ) 2
6 5
© 3 (d) none of these
1
17. If A4, is the area enclosed by the curve xy = 1, the x-axis (©) S (d) 6
and the ordinates x = 1, x = 2 and 4, is the area enclosed
by the curve xy = 1, the x-axis and the ordinates x = 2,
x =4, then
ANSWERS
1. (a) 2. (a) 3. (a) 4. (a) 5. (¢) 6. (b) 7. (a) 8. (@) 9. (b) 10. (d)
1. @ 12.(a 13. () 14.(d 15 @ 16.(c) 17.(d) 18. (a)
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